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QUESTION 1

Examine the code examples. Which one is correct? 

A. CREATE OR REPLACE TRIGGER authorize_action BEFORE INSERT ON EMPLOYEES CALL log_execution; / 

B. CREATE OR REPLACE TRIGGER authorize_action BEFORE INSERT ON EMPLOYEES CALL log_execution / 

C. CREATE OR REPLACE TRIGGER authorize_action BEFORE EMPLOYEES INSERT CALL log_execution; 

D. CREATE OR REPLACE TRIGGER authorize_action CALL log_execution BEFORE INSERT ON EMPLOYEES; / 

Correct Answer: B 

 

QUESTION 2

You create a DML trigger. For the timing information, which are valid with a DML trigger? (Choose all that apply.) 

A. DURING 

B. IN PLACE OF 

C. ON SHUTDOWN 

D. BEFORE 

E. ON STATEMENT EXECUTION 

Correct Answer: D 

 

QUESTION 3

Examine this code: 

What does this trigger do? 

1Z0-147 PDF Dumps | 1Z0-147 Exam Questions | 1Z0-147 Braindumps                                2 / 5

https://www.pass4itsure.com/1Z0-147.html
https://www.pass4itsure.com/1Z0-147.html
https://www.pass4itsure.com/1Z0-147.html


https://www.pass4itsure.com/1Z0-147.html
2022 Latest pass4itsure 1Z0-147 PDF and VCE dumps Download

A. The trigger records an audit trail when a user makes changes to the database. 

B. The trigger marks the user as logged on to the database before an audit statement is issued. 

C. The trigger invokes the procedure audit_action each time a user logs on to his/her schema and adds the username to
the audit table. 

D. The trigger invokes the procedure audit_action each time a user logs on to the database and adds the username to
the audit table 

Correct Answer: D 

 

QUESTION 4

Examine this code: 

What occurs? 

A. Employee 108 has his email name updated based on the return result of the function. 

B. The statement fails because functions called from SQL expressions cannot perform DML. 

C. The statement fails because the function does not contain code to end the transaction. 

D. The SQL statement executes successfully, because UPDATE and DELETE statements are ignored in stored
functions called from SQL expressions. 

E. The SQL statement executes successfully and control is passed to the calling environment. 

Correct Answer: B 

1Z0-147 PDF Dumps | 1Z0-147 Exam Questions | 1Z0-147 Braindumps                                3 / 5

https://www.pass4itsure.com/1Z0-147.html
https://www.pass4itsure.com/1Z0-147.html
https://www.pass4itsure.com/1Z0-147.html


https://www.pass4itsure.com/1Z0-147.html
2022 Latest pass4itsure 1Z0-147 PDF and VCE dumps Download

 

QUESTION 5

Which code can you use to ensure that the salary is not increased by more than 10% at a time nor is it ever
decreased? 

A. ALTER TABLE emp ADD CONSTRAINT ck_sal CHECK (sal BETWEEN sal AND sal*1.1); 

B. CREATE OR REPLACE TRIGGER check_sal BEFORE UPDATE OF sal ON emp FOR EACH ROW WHEN (new.sal
andlt; old.sal OR new.sal andgt; old.sal * 1.1) BEGIN RAISE_APPLICATION_ERROR ( -20508, \\'Do not decrease
salary nor increase by more than 10%\\'); END; 

C. CREATE OR REPLACE TRIGGER check_sal BEFORE UPDATE OF sal ON emp WHEN (new.sal andlt; old.sal OR
new.sal andgt; old.sal * 1.1) BEGIN RAISE_APPLICATION_ERROR ( - 20508, \\'Do not decrease salary nor increase
by more than 10%\\'); END; 

D. CREATE OR REPLACE TRIGGER check_sal AFTER UPDATE OF sal ON emp WHEN (new.sal andlt; old.sal OR
-new.sal andgt; old.sal * 1.1) BEGIN RAISE_APPLICATION_ERROR ( - 20508, \\'Do not decrease salary nor increase
by more than 10%\\'); END; 

Correct Answer: B 
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